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Please check the Question Booklet immediately on opening and
ensure that it contains all the 150 multiple choice questions printed
on it.

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to
you. The OMR Answer Sheet contains boxes for filling Hall Ticket
Number, Question Booklet Number, Venue Code, Name, Signature
of the Candidate and Invigilator. Fill the boxes with Blue/Black ball
point pen only.

If there is any defect in the Question Paper Booklet or OMR Answer
Sheet, please ask the invigilator for replacement immediately.

Since the answer sheets are to be scanned (valued) with Optical Mark
Scanner system, the candidates have to USE BALL POINT PEN
(BLUE/BLACK) ONLY for darkening the circles in the OMR
Answer Sheet including bubbling the answers. Bubbling with
Pencil/Ink Pen/Gel Pen is not permitted in the examination. If any
mistake is done by you on the OMR Answer Sheet, it will not be
replaced.

The Question Booklet number is printed on the right corner of the
cover page of the Question Booklet. Mark your Question Booklet
number on side 1 of the OMR Answer Sheet by darkening the
appropriate circles with Blue/Black ball point pen.

Example to fill up the Question Booklet number :
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If you have not darkened the Question Booklet number on side 1 of
the OMR Answer Sheet your Answer Sheet will be invalidated
without any further notice. If it is darkened in a way that it leads to
discrepancy in determining the exact Question Booklet number, then
it may lead to wrong result/rejection of the Answer Sheet and
candidate himself/herself will be responsible for the same.

Each question is followed by 4 answer choices. Of these, you have to
select one correct answer and mark it on the Answer Sheet by
darkening the appropriate circle for the question. If more than one
circle is darkened, that answer will not be valued at all. Use
Blue/Black Ball point pen to fill the circle completely. Make no other
stray marks.

e.g. :- If the answer for Question No. 1 is Answer choice (2), it
should be marked as follows :
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(1) AVUWZ
(2) AUZVW
(3) AUVZW
(4) AVWUZ

5 1800 BE3E BLhTs 5Ty Beso DO ?

4,11,19, 36, 78,169, ?
(1) 338 (2) 339
(3) 340 (4) 341

S5 (300 SOt B0 E0); 0 2SS Botd
BTO B¢ w8 SoWOE0 God. ©F HoWOTEH
EIAPAOD P FHoF &GOS HFN @)
5508706,
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(1) GJWBW
(2) GJCVW
(3) GJCWV
(4) GJBWW

& ($od OVS*O dooc P @g(‘()oés &GOS
Mo 850808 :

7 9 32
12 14 52
19 23 168
31 37 ?
(1) 412 (2) 408
(3) 416 (4) 424

o8 §& erng® CAT & 60 ™ S00as» DOG &
420 ™ & D, @3 €& 58 OWL &5 D
Do & Ikt ?
(1) 4140
(3) 4240

(2) 4040
(4) 4060

(2)
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(1) ERSKGTZHKV
(2) ERKSTGZKHV
(3) ERSKTGZHKV
(4) ERKTSGZHKV
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7,11, 19, 36, 78,169,381, _?
(1) 761
(2) 762
(3) 763
(4) 764

Gos Sored Dope ;S  FIETow. B
28D Both IT°O B &8 DOVOLo Kok, &l
ROROTY) GHGPAOD ¥ FV0E GomdYS BD
LS 55057 06

782 : 863,
(1) 1418
(2) 1438
(3) 1457
(4) 1432

948 : 1305, 896: ?

600 50008 H0OROD TO HHYO VG0 &8
%05 DBEFOT. 205 008 FoWIOOR BEHST,
250 3E00eS Sodakn 200 H00d  psrod
JOTH. 08 80 008 oedooNm oA
JLEon; 75 00d  go:dBoK 0B
pred; 0 70 S00d pTred  Sodoxm
DIED0LH SO, 120 2008 & SordoedsS
Ay 85 TTB, Sordoedd IOIS T o
3008 ?

(1) 60
(2) 50
(3) 70
(4) 80
ki
[Cif="e


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

4G-1922-ET/22192

Two pairs are given below; there is some
relationship between the two terms of the first
pair. Using the same relationship, find a
suitable alternative in place of ‘?’.

PFRKC : WAAHN : : TZMCL : ?
(1) AVUWZ
(2) AUZVW
(3) AUVZW
(4) AVWUZ

Find the next term in the following series :
4,11, 19, 36, 78,169, ?

(1) 338 (2) 339

(3) 340 (4) 341

Two pairs are given below; there is some
relationship between the two terms of the first
pair. Using the same relationship, find a
suitable alternative in place of ‘?’.

SLMKD : XVBEC : : BZMCX : ?
(1) GJWBW
(2) GJICVW
(3) GICWV
(4) GJBWW

Find the number in place of ‘? from the
following alternatives :

7 9 32
12 14 52
19 23 168
31 37 ?
(1) 412 (2) 408
(3) 416 (4) 424

CAT is coded as 60 and DOG is coded as 420
in a particular code language. How will OWL
be coded in the same language ?

(1) 4140 (2) 4040
(3) 4240 (4) 4060

(3)
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In a particular code language, EXHIBITION
is coded as GAMPMVKBLQ. How will
CONDITIONS be <coded in the same
language ?

(1) ERSKGTZHKV
(2) ERKSTGZKHV
(3) ERSKTGZHKV
(4) ERKTSGZHKV

What will be the next term in the following
series ?

7,11, 19, 36, 78, 169, 381, ?

(1) 761

(2) 762

(3) 763

(4) 764

Three pairs of numbers are given below. There
is some relationship between the two terms of
each pair. Using the same relationship, find a
suitable alternative in place of “?’.

782 :863, 948:1305, 896: ?
(1) 1418
(2) 1438
(3) 1457
(4) 1432

A survey was conducted on 600 persons to
study  their = educational = background.
205 persons studied Engineering, 250 studied
Management and 200 studied Psychology.
Among them, 80 studied Engineering and
Management, 75 studied Engineering and
Psychology and 70 studied Psychology and
Management. If 120 have studied none of
these three, how many studied all the three
programmes ?

(1) 60

(2) 50

(3) 70

(4) 80
00
[=] %5
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OGRS Hoan 56 Fmyed Tow $65en
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o0 G 50 2563 S50 Sdat 56 Sind F
30653 T omrd. Totd Sned Sod
i T0%H 4 IF FHoTD ?

(1) C (2) D

3) E 4) F

G 50080 e, ordess, HBE, B85, BRI,
DEBBg, (50, EomEs DOAMO KBS0 &8 IO
N zﬁ)&lgj Bo3 et §P5)QK5°&C§J @éég
H0B0K0 (BRI S e OBE. Kerges 500K
NI IRARS D58 so. BEY; 000K
5002 AEITENDN® &0, HBS BT B0,
O B&5 §@°§£§ B0, oS 085 989500
DT G, WP THD oI
DEBED D I ?

(1) &35 (2) 558

(3) §°9'°?SE‘5_ (4) éeﬁés

a8 V508 6 105 erdSw, 9 $0d et
Ko, EIV0 [oordd wrd¥en oGty 6 M
Do Mo @R Ay AT SATD Jad
Hodxn ?

(1) 595 (2) 590

(3) 585 (4) 580
EARLINESS &0 o) ¢§ood, o) o)
B EHS T Agore, Sar Babie DD
9-0950°0 HTe Bogyd SHE 0k,

(1) 86400 (2) 90720

(3) 82080 (4) 84240
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7 2!
1) — 2) =
()72 ()9!

7 1
3) — 4) —
()9! ()72

25 D0DE 5 Joo, T SHHWD H00kn 8 3gd
20HL0 KoY. Bt oot areyson &,
@otHS® aXed Joo Sobd 83 B
@ADL HoETHss o ?
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A Q) sotoHw SH.

B. £, 3Hew DEYEV.
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(1) T50805 IV e Sor(gdo e90050200.

(2) I 5000%0 IV o0 575 e0:007r00.

(3) T 50805 IIT e S e930:98200.

(4) TI, TIT 20805 IV @0 S e950:000.
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Seven students A, B, C, D, E, F and G have
appeared for two examinations in Foundation
and Core courses. Based on their performance
in the examinations, they were given ranks. D
ranked first in the Foundation course and was
last in the Core course. G had the same
ranking in both courses and was just above D
in Core course. B is in the middle in Core and
just below D in the Foundation course. C is in
the middle in the Foundation and just above G
in the Core course. A is in between B and C in
the Foundation and just above B in the Core
course. E is just below G in the Foundation
and F ranked first in the Core course. Whose
average rank for both the courses together is
equal to 4 ?

(1 C (2) D
3) E 4) F
Eight friends, Lavanya, Deepak, Pavan,

Munish, Chaitanya, Prasanna, Kalyan and
Suman sit around a circular table facing the
centre. Deepak is between Chaitanya and
Prasanna. Pavan is between Kalyan and
Lavanya. Chaitanya and Munish are opposite
each other. Kalyan is between Pavan and
Munish. Suman and Lavanya are opposite
each other. Who is sitting immediately to the
right of Lavanya ?
(1) Deepak

(3) Kalyan

(2) Pavan
(4) Chaitanya

A group consists of 6 girls and 9 boys. How
many ways can a team of 6 members be
selected if the team has at least 4 girls ?

(1) 595 (2) 590

(3) 585 (4) 580

Find the number of different 9-letter words
that can be made from all the letters of
EARLINESS, so that all vowels do not occur

together.
(1) 86400 (2) 90720
(3) 82080 (4) 84240

14.

15.

16.

(5)

GET IT ON
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All the letters of the word NORMALITY are
jumbled and possible five-letter words are
formed without repetition of letters. From
those newly formed words, a word is drawn at
random. What is the probability that the word
drawn starts with the letter M and ends with
the letter R ?

7 2!
1) — 2) =
(),72 ()9!

7 1
3) — 4) —
()9! ()72

A bag contains 5 blue, 7 green and 8 white
balls. If two balls are drawn randomly, what
is the probability of getting one blue ball and
one white ball ?

1 4
1) — 2) —
()10 ()19

13 13
3) — 4) —
()20 ()19

In the following question, four statements
followed by four conclusions numbered I, II,
IIT and IV are given. You should consider the
given statements to be true even if they seem
to be at variance from commonly known facts
and then decide which conclusions logically
follow from the given statements disregarding
commonly known facts.

Statements :

A. All animals are birds.

B. Some birds are cats.

C. All cats are dogs.

D. Some dogs are elephants.

Conclusions :

I. Some birds are animals.

II. Some animals are cats.

ITI. Some birds are dogs.

IV. Some animals are elephants.

Which of the following options is correct ?
(1) Only I and IV follow

(2) Only II and IV follow

(3) Only I and III follow

(4) Only II, III and IV follow
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19.

20.

21.
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In the following problem, two sets of figures,
namely ‘Problem Figures’ and ‘Answer
Figures’ are provided. The ‘Problem Figures’
are marked as A, B, C and D. Figures A and B
in the ‘Problem Figures’ are related in a
particular manner. Select an Answer Figure
with a similar relationship between figures C
and D.

Problem Figures :

A [S]2

A B C D

Answer Figures :

8 /':z}3 @) ?';/

(3) /f/') (4)

s

ciC

A problem figure, which follows a particular
sequence, is given below. You are required to
select one of the suitable alternatives, which

will continue the same pattern.

—>

INITAY A A

M @T @) @
®) @T @ @l

19.

20.

21.

(7)

GET IT ON
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A problem figure, which follows a particular
sequence, is given below. You are required to
select one of the suitable alternatives, which
will continue the same pattern.

(>
O
<

90O
VO - 06

(@) (2)

(3) (4)

Two positions of a single die are shown below.
If single ‘@’ is at the bottom, then the number
of dots that appear on the top is ?

(2) 3
4) 5

~_~ ~
W =
N N
o N @

Find the sum of all three-digit numbers that
can be formed by the digits 1, 2, 3 and 8
without repetition.

(1) 9426 (2) 9324
(3) 9342 (4) 9448
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‘CHEMIST 36508579 o50ren @Hirdd ©d
DITHYBO  TWoE  IPY, IToH  SATD
DT, T D5)ED Srod D) I e
©Q) 5O Goerow ?

(1) 5040 (2) 1564

(3) 4040 (4) 1440

‘STUDY 365080 @) ©5Tod Srthirihdd
VETY  YITHBO TG FEEady w0
VETO ITOR SO DT, TET I6ES
BOPe 00 89T AT JoDE Ty, ©
550 U & Soocsodhy $0grdss Jos ?

(1) 0-24 (2) 018

(3) 0-15 (4) 0-20

¥oro 2005 590 e 8 BEE D8g IGIET
OO HogrHyEed SR 0-40 SO0 0-75.
3PH @ g IAIET QO
BADDDpE T pdBorr TOS a5T
Q0D DoFPHER L8 0k,

3 1
(1) 10 (2) 1o
11 9
(3) 20 (4) 20

1 2008 6 559 Soges Brdodd Sngred Ho
28 080 TP ﬁgs"@ BRI SrHesro®. 3
Doy Ko J0grdd AEHST GO% SPPOY &OG

Hogy 28 ?
5 6 3 4
6 3 3 2 4 > 2 5
1 (2) 2
3) 4 4) 5

25 D03 56 558", NDLA & 6830 7, ACP %
465 e, PNE & 374 e, OLT & 201 e 5005
TIP o 429 i+ §& 3% o3 §& g79¢° LCET %
£& 20 ?
(1) 3174
(3) 7532

(2) 2705
(4) 5307

27.

28.

29.

30.

31.

(8)
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508 SoG PO DI Warh, HAHDH S
So00K0 500 @By / TNy @ond S
D3RS P83 B35, JFH  SolG 0B
ST T8 wHT . EIB DoY), s 55
STE 0% O o oS B8 ?

(1) Sosesen (2) Do

(3) k50 (4) e

25 0% §&  o0¢’, NIZAMABAD &%
UWUCVQYEO w £& Iy, oo gud
KOTHAGUDEM % 290 §°6& Seth ?

(1) RCJOJWRHPE

(2) RCOJJWRHPE

(3) RCOJJWHRPE

(4) RCJOWJHRPE

OIS BIGS TIh 2SS GO O ?

21: 9282, 18 : 5850, 26 : 17602, 31 : 29821

(1) 21:9282 (2) 18:5850

(3) 26 : 17602 (4) 31:29821
BINS 3925 Boch 233808 Besed s 308,
Soch  DTro MG a8 Ho0Eo  &od. €90
ROVOTEY &DGIFA0D P FH0E B 2

5508906

FNSY : RLCU ::SKLP: ?_

(1) MLVI (2) IEML

(3) EIVL (4) ELVI

Bo8 BBEGH DBoH HGD Pdo AG0Y,
el e DS Sugrdd A &od
S09r08 QK)& &), e00eT700 ?

11 (2) 6

(3) 2 4) 5
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Different words are formed by jumbling the
letters of the word ‘CHEMIST without
repetition of the letters. Out of such newly
formed words, how many words will have all
the vowels together ?

(1) 5040
(3) 4040

(2) 1564
(4) 1440

All the letters of the word ‘STUDY are
jumbled and possible five-letter words are
formed without repetition of letters. From
those newly formed words, a word is drawn at
random. What is the probability that the word
drawn starts with the letter U ?

(1) 0-24 (2) 0-18

(3) 0:15 (4) 0-20

The probability of Kalam and Kaleem solving
a specific problem independently is 0-40 and
0-75 respectively. If both are trying to solve

the problem independently, find the
probability that exactly one of them solves it.
3 1
1) — 2) —
W 10 @ 10
11 9
3) — 4) —
3) 20 (4) 20

Four positions of a cube are shown below,
whose faces are numbered 1 through 6. Which
number will be on the face opposite to the face
with number 3 ?

5 6 3 4

6 3 3 2 4 > 2 g
1 @ 2
(3) 4 @ 5

In a certain code language, NDLA is coded as
6830, ACP is coded as 465, PNE is coded as
374, OLT is coded as 201 and TIP is coded as
429. What will be the code for LCET in the
same language ?

(1) 3174
(3) 7532

(2) 2705
(4) 5307

27.

28.

29.

30.

31.

(9)

GET IT ON
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Mahesh is the son of Anand’s father’s sister.
Phani is the son of Ramya who is the mother
of Vinay and grandmother of Anand. Praveen
is the father of Neha and grandfather of
Mahesh. Ramya is the wife of Praveen. How is
the wife of Vinay related to Neha ?

(2) Niece

(4) Daughter

(1) Sister-in-law
(3) Sister

In a certain code language, NIZAMABAD is
coded as UWUCVQYEO. How will
KOTHAGUDEM be coded in the same
language ?

(1) RCJOJWRHPE
(2) RCOJJWRHPE
(3) RCOJJWHRPE
(4) RCJOWJHRPE

Find the odd one out of the following four

pairs :
21:9282, 18:5850, 26:17602, 31:29821
(1) 21:9282 (2) 18:5850

(3) 26 : 17602 (4) 31:29821

Two pairs are given below; there is some
relationship between the two terms of the first
pair. Using the same relationship, find a
suitable alternative in place of ‘?’.

FNSY : RLCU :: SKLP: ?
(1) MLVI (2) IEML
(3) EIVL

(4) ELVI
If the figure given below is folded to form a

cube, how many dots lie opposite to the face
having four dots ?

(O 1
3) 2

(2) 6
4) 5
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P,Q,R,S, T, U 0o Ved reth ¢6350 39
S el S0 o, P, T o %58 V
gy, U 2000 P o 2058 a8 areod
oo, R bam T o 5068 38t erentd
&y, U % 063D I0Jowsd S éoyd. R
S0an Q © HGE DN ETreath &I,
woNd, & SHBE V0T S Doy, oS
IIOLD DG FY) 6:5) e

(L P (2) R

3T 4) VvV

28 58 88 OFE HEBLO0 I0Be DETED. BBED
10 & 3G AP SO 5 D IED PP
DEFY BOA 5 D IGAS ST 0Dy HAZD)
DOA 5 QN SETD. WS WHnD AEPD) SO
5 2 SGD GOTD. 0B EoHodD FTAS
D00 DIB FTAS HoGgie EIP Ersos ?

(1) 20 2 (2) 25
3) 15 (4) 10
&2 (300 QGBS Ingo ShHyEo POy :

(1) 360 (2) 120

(3) 90 (4) 60

&2 (3065 3PGD ©FTP, HKe0 DO $oP
ABo0%); D058y DOHEBOBOC

AG$RI&HN*D3#5TH@8N2+4M<QP7F
& DSrIro A0, Toth ST Qod TS

Sorosol SEPo Srdy *F m®H A & 2§
DBDpt NG §Y 550508 @ H AEHPD)
Ko 14 3 S50rosdd HEJDS o 5 $ Soroso

(1) 4
3) D

(2) %
(4) #

36.

37.

38.

39.

40.
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e¥ Ger rAbOWo WEFD 4 Koo WD

prde A, B e ¥ J0p s

DooyTth. A Je BT w8d D& D, B A

ROTE @8 & 3P B&B, & Bod mags-o@ess

HOAHBE JoinEod.

(1) B &5 39, AH HE DI SET &0d.

(2) A &85 S0 &I 0N B % &
3D Ertdy &0d.

(3) A 5860 30907 &I H00a B 9 043D
&3y €00.

(4) B 086 39, AD A& D) &y 600,

Jocd Dogge nso 170, T°¢3 STre oo 2500

©ond & o Koo 00 oS ?

(1) 900
(3) 1200

(2) 1000
(4) 1300

A 50805 B 3¢t $ihe 98 Savye J%g
5: 8. 5O SosSyTro @¥o T0 Iabine I
1:27° 65T T°0 (B8 $AbRoy 3080 Jod ?
(1) 60
(3) 64

(2) 65
(4) 66

5058 BRS SRy, 10 Jossyre @0 d
SADIND BErSo. TO HS HAR ITo
I0E0 628 wond TO BRS JoHy ST
#¢350 dos ?
(1) 330
(3) 340

(2) 350
(4) 360

BB 3 20.w. X 4 20.20. X 6 20.2. Fosen
Ho OEHToS o T SAF JoKe
SHORS SR BPTe Dows

(1) 196
(3) 144

(2) 192
(4) 169
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The boys P, Q, R, S, T, U and V stand in a row
facing north. V is in between P and T. U and P
have one boy between them. R and T have two
boys between them. S is to the immediate
right of U. R and Q have three boys between
them. The boy on the immediate right side of
the boy standing exactly in the middle
position is .

(P
3 T

(2) R
4) V

A man started walking in the north direction.
He walked 10 meters and took a left turn,
walked 5 meters, then took a right turn,
walked for 5 meters and he again took a right
turn and walked 5 meters. Then he took a left
turn and walked for 5 meters and stopped.
What is the shortest distance between the
final position of the man and his initial
starting position ?

(1) 20 meters
(3) 15 meters

(2) 25 meters
(4) 10 meters

The total number of quadrilaterals that
appear in the following figure is :

(1) 360
(3) 90

(2) 120
(4) 60

Consider the following string of Iletters,
symbols and numbers :

A6$RI& X N*D3#5TH@8N2+4M<QPT7F

If the 7th elements from both the ends of the
string are interchanged and the symbol * is
replaced with the symbol #, then in the new
string thus formed, the 5th entry to the right
of the 14th entry to the left of @ is

(1) 4 (2) %
3) D (4) #

36.

37.

38.

39.

40.

(11)
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Two friends, A and B are standing in an open
ground at about 4 pm facing each other on a
particular day. The shadow of A is exactly to
his right and shadow of B is exactly to his left.
Then choose the correct alternative.

(1) West is on the left side of B and right
side of A.

(2) A is facing North and East is on the left
of B.

(3) A is facing South and East is on the
right of B.

(4) East is on the right side of B and left
side of A.

If the sum of the two numbers is 70 and sum
of their squares is 2500, then what is the
product of those two numbers ?

(1) 900
(3) 1200

(2) 1000
(4) 1300

The ratio of the present ages of two persons A
and B is 5 : 8. If 10 years ago, the ratio of their
ages was 1 : 2, what is the sum of their
present ages ?

(1) 60
(3) 64

(2) 65
(4) 66

The present age of Parvez is equal to
Ramesh’s age 10 years ago. If the sum of the
squares of their present ages is 628, what is
the difference in squares of their present
ages ?

(1) 330
(3) 340

(2) 350
(4) 360

What is the least number of identical cuboids,
each of dimensions 3 cm X 4 ¢cm X 6 cm that
are required to form a cube ?

(1) 196 (2) 192
(3) 144 (4) 169
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The median of first 100 natural numbers is : 47.
(1) 515 (2) 495
(3) 505 (4) 50

The arithmetic mean of squares of first 50
natural numbers is :

(1) 800-5 (2) 8085

(3) 858:5 (4) 8685

In the following question, three statements
followed by four conclusions numbered I, II,
IIT and IV are given. You should consider the
given statements to be true even if they seem
to be at variance from commonly known facts
and then decide which conclusions logically
follow from the given statements disregarding
commonly known facts.

Statements :

A. All papers are pencils.

B. Some pencils are markers.

C. All markers are butterflies.
Conclusions :

I. Some markers are papers.

II. Some butterflies are pencils.

ITI. Some butterflies are papers.

IV. Some pencils are papers.

Which of the following options is correct ?
(1) Only conclusion I follows

(2) Only conclusion III follows

(3) Only conclusions II and IV follow
(4) Only conclusion II follows

The details of marks scored in an exam by six
students A, B, C, D, E and F are as follows. B
and C scored more than A, A scored more than
D and E, C scored less than B, F scored not
more than D and E, while E scored not less
than F. Who stands at the rank three ?

(1D (2) C

(3) B 4) A

The sum of digits in the number 1027 — 26 is :
(1) 236 (2) 246

(3) 226 (4) 216

If it was Sunday on January 1, 2023, what
will be the day of the week on August 15,
2025 ?

(1) Wednesday
(3) Friday

(2) Thursday
(4) Saturday

(13)

48.

49.

50.
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Which sequence of letters is to be placed at
the blanks one after the other to complete the
following letter series ?

c_bba_cab_ac_ab_ac
(1) abcbe
(3) babce

(2) acbcb
(4) becacb

The number of rectangles in the following
figure is :

(1) 18
(3) 16

(2) 19
(4) 17

Study the following statements :

A. Brinjal is tastier than potato.

B. Tomato is tastier than brinjal.

C. Potato is not tastier than cabbage.

Choose the correct conclusion that can be
drawn from the above statements :

(1) Cabbage is as tasty as brinjal.

(2) Cabbage is as tasty as brinjal and tomato.

(3) Potato is the least tasty of the four
vegetables.

(4) Potato is tastier than tomato.

A survey conducted on 120 students with
regard to their reading habits of three types of
books, Fiction (F), History (H) and Novels (N)

revealed the following information :

54 students read N, 41%% read F, 45% read
H, 12%% read both N and F, 14 read N and
H, 20 read H and F and 4%% read all the

three types of books.
Using this information answer the following
question.

How many students read exactly any two of
the three types of books ?

(1) 34
(3) 36

(2) 35
(4) 37
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51. Let U be the set of all natural numbers from | 56-
1 through 1000. Let A be the set of all
multiples of 3 in U, B be the set of all
multiples of 5 in U and C be the set of all
multiples of 7 in U. Using this information
answer the following question.

The number of elementsin A UB U Cis:
(1) 541 (2) 542
(3) 543 (4) 544

52. Let U be the set of all natural numbers up to | 57,

300. Let A be the set of all even numbers in U,
B be the set of all multiples of 3 in U and C be
the set of all multiples of 5 in U.

Using this information, answer the following
question.
If a number is chosen at random from U, what
is the probability that it is from A N B ?

1 1 58.
1 = (2) —

6 12

1 3
3 = 4) —

4 5

53. If a and B are respectively acute angles
between the hands of a clock at 3-30 pm and
4-30 pm, then a.: B =
(1) 3:2 (2) 2:3
(3) 4:5 4) 5:3 7

&)

54. The year 2024 ends with the day :

(1) Monday (2) Tuesday
(3) Thursday (4) Friday

55. Some amount is distributed among four
persons A, B, C, D in such a way that %rd of
the amount goes to A, ith of the remaining 59
amount goes to B, C receives ¥ 1,200 while the
remaining %th amount goes to D. Then the
person who receives the lowest amount is :
1A (2) B
3D 4) C

4G-1922-ET/22192 (15)
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Find the number in place of ‘?’ in the following
diagram :

? 9
130 16
85 25
50 | 36
(1) 180 (2) 185
(3) 175 (4) 190
What is the value of x in the following table ?
121 144 132
225 361 285
576 x2 624
(1) 19 (2) 24
(3) 26 4) 17

The Marked Price (MP), Selling Price (SP) and
Cost Price (CP) of a product in Rupees for six
weeks are given below. In which of the
following weeks, is the percentage of discount

more than the percentage of profit ?
(Marked Price > Sale Price > Cost Price)

MP, SP and CP details in <.

3501
3001
250+
2001
1504
100+
501
0 1 1 1 1 1 1

Week
M1 (2) 2
3) 3 (4) 4
A bag contains 2 red, 3 black and 4 green

balls. If two balls are drawn randomly, what
is the probability that both are green ?

(1) (2)

(3) (4)

D~ O
Wi wW|H
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In a class, 30% drink tea and 75% drink
coffee. Twenty students drink both and 15
students do not drink any of the two. What is
the total strength of the class ?

(1) 100 (2) 120
(3) 80 (4) 90

In a certain code language
“BLUESTOCKING” is coded as
“TNLIUGBEOSCK?”. In the same language
“CABINETWORKS?” is coded as :

(1) EKARSBCITNOW
(2) EKARBSCITNWO
(3) EKABRSCITNWO
(4) EKABRCSITNOW

All the letters of the word LAYOUT are
jumbled (without repetition) and form new
words in alphabetical order. What will be the
rank of LAYOUT among the newly formed
words ?
(1) 136

(3) 120

(2) 130
(4) 140

A watch was set right at 8 AM and it gains
6 seconds for every 4 minutes. On the same
day, what will be the correct time when the
watch shows 4 PM ?
(1) 3-55 PM

(3) 3:48 PM

(2) 3-45 PM
(4) 3:50 PM

The calendar of the year 2010 will be the same
for which of the following years ?

(1) 2019 (2) 2021
(3) 2022 (4) 2023

In a certain code language BXKRTUSVADPN
is coded as XPSBUVRDKNTA. In the same
language how is QLAHKRPXLBWJ coded ?

(1) LWQPRXHABJKL
(2) LWPQXRHBAKJL
(3) LWPQRXHBAJKL
(4) LWQPXRHBAKJL

(17)
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Let U ={x | 1<x< 100, x is a natural number}
and A = {x € U | 3 divides x}
B={x e U | 7divides x}
C={x e U | 15 divides x}
Which of the following is the null set ?
(1) AnBNC (2 ANB

3 A-C 4) CNA

LetU=(1, 2, 3, ..., 50}

A ={x € U |x leaves remainder 1 when

divided by 4}
B ={x € U | x leaves remainder 3 when
divided by 4}
and C ={x € U | xleaves remainder 1 when
divided by 6}
The number of primesin B U Cis:
(1 9 (2) 10
(3) 11 (4) 12

Three persons A, B and C can do a piece of
work in 18, 36 and 48 days respectively. A, B
and C together start working. After 3 days, A
leaves the job and B and C continue the job,
but due to some reason B also leaves the job
after 3 days, whereas C continues till the end
of the job.

I. A and B together can finish the job in
12 days.

IT. After the departure of A and B, C alone
finishes the job in 26 more days.

Which of the following options is correct ?
(1) Both I and II are true.
(2) Both I and II are false.
(3) Iis true and II is false.
(4) Iis false and II is true.
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69. If125#25=5,10@3 =30,5& 3 =8 and
10$6=4, then find the value of 7.
50$25@1 & (20 # 10).

(1) 20
(2) 18
(3) 27
(4) 22

70. In a certain code language BOTTLE is coded
as 1198 and GLASS is coded as 916. How is
CHAIR coded in the same language ?

(1) 524
(2) 486
(3) 584
(4) 479

71. The number of odd positive divisors of 62 74 85
is:

(1) 20 (2) 25
(3) 12 (4) 15

72. Let S be the set of all natural numbers from
1 to 20, both inclusive. Then the number of
ordered triads (x, y, z) with the elements from 7.
S in which at least two of x, y and z are equal
is:

(1) 1170 (2) 1160
(3) 1150 (4) 1140

73. Two numbers are chosen at random from the
set {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}. Then the
probability that the bigger of the two is at
most 7 is :

3 7
(1) 5 (2) IR
2 2
3) 5 4) 3
4G-1922-ET/22192 (19)
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In the following, a given question is
accompanied by two statements. Choose the

correct option to answer the question.

Is 5x + 25 divisible by 50 ?
I. xis divisible by 5.
II. xis divisible by 10.

(1) The question can be answered by one of

the statements alone and not by the other.

(2) The question can be answered by using
both the statements together, but cannot

be answered using either statement alone.

(8) The question can be answered by using

either statement alone.

(4) The question cannot be answered even by

using both the statements together.

In a joint family of seven persons, P, Q, R, S,
T, U and V, there are two married couples. V
is a housewife and her husband is a lawyer. R
is the wife of Q, P is an engineer and is the
grand-daughter of V. S is the father-in-law of
R, a doctor, and father of T, a professor. U is
P’s brother and Q’s son. How is U related to
R?

(1) Son

(2) Brother

(3) Daughter

(4) Data inadequate
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76. Vikas is a medical representative and he is
supposed to visit six doctors — M, N, P, Q, R
and S, exactly once every week. To visit the
doctors, Vikas has set up a schedule to
visit each of the six doctors during the course
of one week according to the following

conditions :
I. He must visit Dr. M before Dr. N and
Dr. R.

II. He must visit Dr. N before Dr. Q.
II1. The third doctor he visits must be Dr. P.

If Vikas visits Dr. S first, which doctor must
he visit second ?

(1) Dr. M
(3) Dr. P

(2) Dr.N
(4) Dr.Q

77. The following pie chart represents the details
of break-up of revenue generated by a
supermarket for the year 2021 —22. Total
revenue generated for the financial year
2021 - 221is T 25 cr.

15% 11%

14%
10%

(¢
97% 23%

: Fruits

: Vegetables
: Grocery

: Health Care
: Bakery

HEH QO QWE >

: Personal Care

The supermarket is planning to increase the
share of the Groceries revenue by 9% in
2022 — 23. If the revenue of the supermarket
is increased by 13% in 2022 — 23, what will be
the revenue generated by the Grocery unit in
2022 - 237

(1) ¥ 6,49,00,000
(3) ¥ 8,12,00,000

(2) ¥ 9,04,00,000
(4) ¥ 8,56,00,000
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The following diagram shows the number of

students who study History, Economics,
English and Psychology. The total number of
students studying the given subjects in the

given order is 64, 76, 63 and 72 respectively.

History Economics
5
3 6 6 10 English
7 11 2
14 9 12 Psychology

How many students study only History ?
(1) 15 (2) 20
(3) 13 4) 14

If a + b means a is sister of b.

a —b means a is brother of b.

a x b means a is daughter of b.

a + b means a is mother of b.
the relationship p+q—-rxs—+1t showsthat:
(1) p, q, 1, s are children of t.
(2) p, q, r, t are children of s.
(3) p, q, r are children of t and s.
(4) p, q, 1, s, t are all siblings.
A newspaper agent sells three newspapers A,
B and C to 300 persons. If <’ is the number of
persons buying all the three papers, based on

the following diagram, what is the wvalue
of x4?

A B

(>
550

C
(1) 14641 (2) 20736
(3) 28561 (4) 38416
00
[=] %5
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Questions No. 81 to 85 :
Read the following passage carefully and answer the
questions given below :

It seems to me a very strange thing that large
numbers of women should have met together
tonight to consider whether the vote is of
importance, while all day long, across the water, in
the Peckham bye-election, men whether they realise
it or not, have been exercising it, and in exercising it
settling for women as well as for themselves great

questions of public importance.

What, then, is this vote that we are hearing so
much about just now, so much more than people
have heard in discussion at least, for a great many
years ? I think we may give the vote a three-fold
description. We may describe the vote as, first of all,
a symbol; secondly, a safeguard, and thirdly, an
instrument. It is a symbol of freedom, a symbol of
citizenship, a symbol of liberty. It is a safeguard of
all those liberties which it symbolises. And in these
later days it has come to be regarded more than
anything else as an instrument, something with
which you can get a great many more things than
our forefathers who fought for the vote ever realised
as possible to get with it. It seems to me that such a
thing is worth fighting for, and women today are
fighting very strenuously in order to get it.

81. Why did a large number of women gather
together ?
(1) To vote in the Peckham bye-election
(2) To discuss what their forefathers did
(3) To fight against men.
(4) To fight for women’s right to vote

82. Men’s attitude

issues is
(1) bilateral

(2) unilateral

in settling the important

(3) considerate

(4) cruel

4G-1922-ET/22192
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Consider the following statements :
A. Right to vote safeguards all our liberties.

B. Our forefathers fought for the rights of

men only.
Which of the above statements is/are correct ?
(1) Both A and B
(2) A only
(3) B only
(4) Neither A nor B

the with

reference to England of those times in the

Consider following statements

context of the passage :
A. Women had the right to vote.
B. Only men had the right to vote.

C. Both men and women had the right to

vote.

D. Right to vote was a symbol of freedom and

citizenship.
Which of the above statements are correct ?
(1) A and C only
(2) B, C and D only
(3) B and D only
(4) A, C and D only

The meaning of the word ‘Strenuously’ in the

passage is
(1) Lightly
(2) Forcefully
(3) Easily

(4) Weakly
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Questions No. 86 to 90 :
Read the following passage carefully and answer the
questions given below :

There is a computer in the car you travel by;
there could be a personal computer at your
workplace, or on your study table at home. The
weather report you get daily also involves the
computer but all of them do not fall into the same
category. They are different in terms of hardware,
software, purpose, and everything else. Initially
computers were classified on the basis of their size,
speed and cost, but now there are many more
attributes attached to them. Each and every
computer must fall into one of the four categories
respectively, supercomputer, mainframe computer,
minicomputer and microcomputer. A computer
system consists of three primary components
namely memory, central processing unit and input /
output unit. The second one, the central processing
unit is the brain of the computer and it is also called
the CPU and it consists of a control unit, which is
CU and arithmetic and logical unit, which is an
ALU. The memory provides a storage medium for
the data and instructions to be executed. The
capacity is generally measured in terms of kilobytes
or megabytes.

86. Whatisa PC?
(1) Processing computer
(2) Personal computer
(3) Penultimate computer

(4) Primary computer

87. Consider the following statements :

A. Initially computers were classified on the
basis of their size, speed and cost.

B. Now computers are classified only on the
basis of their speed.

Which of the above statements is/are correct ?
(1) A only

(2) B only

(3) BothAand B

(4) Neither A nor B

4G-1922-ET/22192
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Consider the following pairs :

Category Computer
A. First category : Supercomputer
B. Second category : Microcomputer
C. Third category : Minicomputer

D. Fourth category : Mainframe computer

Identify the correctly matched pairs :
(1) A and C only

(2) A and D only

(3) A, C and D only

4) A,B,Cand D

Match the following :
Abbreviation Full Form

A. CU I. Compact Disc

B. CD II. Control Unit

C. ALU ITI. Arithmetic and
Logical Unit

D. CPU IV. Arithmetic Linguistic
Unit

V. Central Processing

Unit

Choose the correct answer :
(1) A-I; B-II; C-III; D-IV
(2) A-I, B-II; C-IV; D-III
(3) A-II; B-I; C-III; D-V
(4) A-II; B-I; C-IV; D-V

Consider the following statements :

A. Computers are different in terms of their
hardware and software.

B. The storage of computers is generally

measured in terms of kilobytes or
megabytes.
Which of the above statements is/are correct ?
(1) A only
(2) B only

(3) Both A and B
(4) Neither A nor B
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Questions No. 91 to 95 :
Read the following passage carefully and answer the
questions given below :

In 1912, the British explorer Captain Robert
Falcon Scott and his men were caught in a fierce
blizzard while returning to their base camp. After
reaching the South Pole all of them perished. Their
tent, buried under the snow, was discovered the
following year by Sir Ernest Shackleton. Robert
Scott was found holding in the dead hand an
unfinished letter addressed to his author friend,
James Barrie. After discovering the blizzard and
their impending doom, Scott wrote saying that he
and his colleagues were spending their time singing
songs and making pleasant conversation. Beneath
those lines he had written in bold letters one word
— COURAGE. When he returned to England,
Shackleton handed over the letter to Sir James

Barrie who read it and kept it in a box.

A few years later, Sir James developed some
defect in his right hand because of which he could
not hold a pen with that hand. The author despaired
of ever being able to write again. One day in a
disappointed mood, he took out Scott’s letter and
read it again. It lifted his spirits, and set him
thinking that if Scott and his men could remain
cheerful in the face of certain death, could he not
learn to face adversity bravely ? He picked up his
pen and began practising writing with his left hand.

In a few weeks he could write perfectly well with it.

91. Which of the following statements is correct ?
(1) Sir James
left-hander.
(2) Robert Scott wrote a letter when he was
buried under the snow.
(3) Sir Ernest Shackleton found the tent
buried under the snow.
(4) Robert Scott wrote a letter to Shackleton.

Barrie was originally a

4G-1922-ET/22192
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Which of the following statements is correct ?

(1) Sir James Barrie and Robert Scott are
strangers.

(2) Robert Falcon Scott was cheerful though
he was sure of his death.

(3) Sir James Barrie did not practice writing.

(4) Sir Ernest Shackleton kept the letter in a
box.

Consider the following statements :

A. Ernest Shackleton found Robert Scott’s
letter in England.

B. Sir James Barrie learnt to face adversity
boldly by taking the example of Robert
Scott.

Which of the above statements is/are correct ?
(1) B only

(2) A only

(3) Both A and B

(4) Neither A nor B

Consider the following statements :
A. Sir James had some defect in his left hand.

B. Beneath the lines of his letter, Scott wrote
one word — COURAGE.

C. Scott and his men were caught in a severe
snowstorm.

D. Adversity makes one happy and content.
Which of the above statements is/are correct ?
(1) Aand B

(2) Only C
(3) Band C
(4) A,Cand D
Match the following :

Column I Column I1
A. doom I. snowstorm
B. adversity II. disappear
C. blizzard III. difficulty
D. perish IV. destruction

V. fortune

Choose the correct answer :
(1) A-I; B-II; C-III; D-IV
(2) A-II; B-III; C-I; D-V

(3) A-IV; B-III; C-I; D-II
(4) A-IV; B-I; C-II; D-III
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Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. But teachers may also find it useful.

B. It is not meant for elementary teachers.
C. This is a self-study grammar book.

D. They will find it beyond their standard.
Choose the correct order :

(1) B,C,D,A

2) C,A,B,D

3) C,B,AD

4) A,B,C,D

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. She wants to go out this evening.
B. She tried but could not get a babysitter.

C. But the problem is she has two young
children.

D. So she has postponed her programme.
Choose the correct order :

(1) B,C,D,A

(2) C,A,B,D

3) A,C,B,D

4) D,B,C,A

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. Thave some trouble reading.

B. Iwanted to do my homework.

C. But it was getting dark.

D. So I decided to switch on the lights.
Choose the correct order :
(1) A,B,C,D

3) A C,B,D

(2) B,C,A,D
4) B,D,C, A

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. Suddenly, my mother fell seriously ill.
B. And I had to cancel the trip.
C. The weather is very hot in Hyderabad in

summer.
D. So I planned a trip to Ooty.
Choose the correct order :
(1) A,B,C,D (2) C,B,A,D
3) A,D,C,B 4) C,D,A,B

100.

101.

102.
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Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. I came to know that his train had arrived

much before the scheduled time.
B. So I was quite disappointed.

C. Yesterday I went to the station to meet my
friend.

D. But when I reached the station, my friend

had already left.
Choose the correct order :
(1) A,D,B,C
(2) C,D,A,B
3) A,D,C,B
4) C,B,D,A

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. My friend asked me, “How is the new

hotel ? Is it good ?”
B. Isaid, “I have no idea.”
C. A new hotel was opened yesterday.
D.
Choose the correct order :
(1) A,D,B,C
(2) C,D,A, B
(3) A,D,C,B
4) C,A,B,D

The reason was I did not visit the hotel.

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A.

Ashoka the Great was a great emperor of
the Mauryan Empire.

B. The devastation caused by the war made
him renounce violence.

C. A few years later, he got initiated into
Buddhism.

He fought a brutal war
victoriously.

D. in Kalinga

Choose the correct order :
(1) A,D,B,C
3)A,D,C,B

(2) A,B,D,C
4) D,B,A,C
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Rearrange the sentences in a logical order to

form a meaningful paragraph :

A. Nalanda, the oldest university in the

world, followed this Gurukula system.

B. The ‘Gurukula’ was an ancient system of
education in India.

C. Students from across the world used to

flock to the university for studies.

In accordance to the system, the shishyas

used to live with the Guru in the same

house.

Choose the correct order :

(1) A,D,B,C

(2 A,B,D,C

3) B,D,A,C

4) B,C,A,D

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. The Prime Minister of India had launched

the Swachh Bharat Mission on 2nd
October, 2014.

B. Under this programme, more than 100
million toilets were constructed in rural
India.

C. The objective of the mission was to achieve
universal sanitation coverage.

D. As a result, all villages, cities and states

declared themselves ‘open-defecation free’.
Choose the correct order :
(1) A,D,B,C
(3) B,D,A, C

(2) A,C,B,D
4) B,C,A,D

Rearrange the sentences in a logical order to
form a meaningful paragraph :

A. Pradeep does not like working in Bombay.

B. So, he finally decided to relocate to
Hyderabad.

C. Without losing time, he gave an
application to the manager for a transfer.

D. Itis because he has very few friends there.

Choose the correct order :

(1) A,B,D,C

(2) A,C,B,D

3) A,D,B,C

(4) C,D,B,A
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Select the option with the correct order for
forming a correct and meaningful sentence :

A. he plays

B. his friends
C. on weekends
D.
Choose the correct order :
(1) C,D,B,A

(2) A,D,B,C

3) B,C,D, A

4) D,B,C, A

soccer with

Select the option with the correct order for
forming a correct and meaningful sentence :
A. is due to

B. the rotation of the Earth

C. the formation of day and night

D. on its axis

Choose the correct order :

(1) C,A,B,D

(2) C,D,B,A

3) B,D,C,A

(4) D,C,B,A

Select the option with the correct order for
forming a correct and meaningful sentence :

A. to the post unless

B. two or more members
C. he cannot be elected
D. propose his name
Choose the correct order :
(1) D,C,B, A

(2) B,A,D,C

3) C,A,B,D

(4) D,B,C, A

Select the option with the correct order for
forming a correct and meaningful sentence :

A. assigned to me

B. complete the work

C. Iwould have gone earlier
D. but I could not

Choose the correct order :

(1) C,A,B,D

(2) D,B,C,A

3) B,D,A,C

(4) C,D,B,A
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110. Select the option with the correct order for
forming a correct and meaningful sentence :
A. of trousers this time
B. tomorrow is my birthday
C. buy a beautiful pair
D. and I am going to
Choose the correct order :

(1) B,D,C,A
(2) A,C,B,D
3) B,A,D,C
4) C,D,B,A

111. Select the option with the correct order for

forming a correct and meaningful sentence :
A. from my friend that

B. Thave received

C. an email

D. he is going abroad

Choose the correct order :

(1) D,A,C,B

(2) B,A,D,C

(3) B,C,A,D

4) A,C,D,B

112. Select the option with the correct order for

forming a correct and meaningful sentence :
A. refrigerators and televisions

B. appliances these days

C. household electrical

D. are the most used

Choose the correct order :

GET IT ON
Google Play

114. Select the option with the correct order for
forming a correct and meaningful sentence :
A. going on for the last month
B. the cultural programmes will commence
C. for which rehearsals have been
D. on the fifteenth of this month
Choose the correct order :

(1) B,D,A,C (2) C,A,D,B
3)C,B,D,A 4) B,D,C, A
115. Select the option with the correct order for

forming a correct and meaningful sentence :
A. for more than five years

B. score a century

C. although he has been playing cricket

D. he has not been able to
Choose the correct order :
(1) D,B,A,C

3) B,C,A,D

(2) C,A,D,

B
4) A,C,D,B

Read the passage given below and the five questions
(116 - 120) based on it. Select the correct option to
fill in the blanks.

Childhood few
responsibilities to make life difficult. If a child has
after and loved,
he will

given so much without

is a time when there are

1 parents, he is fed, _ 2
whatever he may do. It is improbable _ 3
ever again in his life _ 4

having to do anything = 5  return.

116. Select the correct option to fill in the blank 1.

(1) A,D,C,B (1) fair (2) good
(2) C,A,D,B (3) wealthy (4) old
Ei; E’ Ié’ (];’ ]13 117. Select the correct option to fill in the blank 2.
T (1) chased (2) run
113. Select the option with the correct order for (3) talked (4) looked
forming a correct and meaningful sentence : | 118, Select the correct option to fill in the blank 3.
A. this year I would (1) that 2) if
B. my teacher advised me that (3) though (4) but
C. surely succeed ) )
D. ifI worked hard 119. Select the correct option to fill in the blank 4.
Choose the correct order : (1) was (2) were
(1) A,B,D, C (3) be (4) are
(2) B,D, A, C 120. Select the correct option to fill in the blank 5.
(3) B,C,D, A (1) for (2) with
(4) A,C,B,D (3) by (4) in
mam
4G-1922-ET/22192 (27) |+
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121.

122,

123.

124.

125.

126.

127.

4G-1922-ET/22192

101101, + 110011, D03 o ?

(1) 92 (2) 96

(3) 98 4) 99

PO BWHD Jrgose STo Ingo B 4 &
FERODIDYPC ©HOD TV :
(1) 28 3

(3) 18w 3

(2) 08 1

(4) 08 3

2027 BoE), HEHE @D Dogge Doxy ‘n
BoB0KD ‘M ST S ST Ko B Direr Do
380 x2 ond, x =

(1) 2025
(3) 2026

(2) 1013
(4) 1012

19x21+27-36+3x6+(4-2)=
(1) 426 (2) 356
(3) 330 (4) 365

FOT 1% 5& Bend 3 BosEyTo TO SO
T 3,12,500 D 0903 IESE OO rHSGe
So¢5 B0 T 6,160 onSH T =

(1) 6 (2) 4

(3) 8 (4) 12

270 8.20. ¢r5od” éb) PuSw A $000» B ©
P0G P Koo P Hdan Q e (Eorr
&SaNo 9 HowodH S TES O Mg
LTooNS QNS B, m0a» A o [hew
Babrerdy @800, P3O A Sood 120 8.0.
Gr5oS Ko RIS C 3¢ esabo 11:30 Hote®H
TPOGL ETH008, Q JEDYPWI) S o
Koo 8.20. 8

(1) 40 (2) 80

(3) 60 (4) 90

% 58,212 0% 505¢ ST 0ES 2l om0
BSOY WET) AGOTH. THE & 9
3.2, & ¥ 630. Foguy ), TErgo 42 .

@0, HIY) DoY), I (Wexys’)

(1) 42 (2) 49
(3) 56 (4) 63

128.

129.

130.

131.

(28)
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5 (800 7638 DB @850 ?

(D I & Ko o8 Og@ 9omdy m $H00K0
n (m > n) PEH KO BOL gl

LM oy 35 m_1+V5
m n n 2

(2) 25 w05 FEE (2p)5 B0 2q S0 (29)5
550 2p o, (q + P)S DEo q + p.

(3) x &8 s Doy wond, ©d o v Y
E\/)O&)s.

(4) 2.5 @&S° I3 ‘v’ Soro InBo ‘N’ & el
$5TT0I0 oS, ¥d w¥ ©o¥ @Fé.

&8 ErOmroe SG0E SrSrabod 8 o )
T% SNoD @Ay 20% ooErdy @S GOCIPAOD
ErIEO THOHITE DD OB, 98D ol
.07 Dy (w0 S I SFE0 IFw ?

(1) 800
(3) 200

(2) 850
(4) 225

Y o3 st @y, o X @8 2 3mdd v
Sepme &od. H ifoeres” s2th X, D’ 8.0, 379
3, TD’ 8.20.0 Srovd) SO Y IroBdaherdd
563 dvawo (Hotod’) :

(2) r/H

3) H (4) H/r

% 2,00,000 5 3% 568 30653 SOSBVEO ey
35G00. I3 DodByTroT  ©§od
S0E0 ToES HoISYTIS 4% sﬁé $ 39G0B.
To&S  DOIBNT0B0S 090J 0o NEE
BOSETDE Pl BGE DT FDTIPED HES
éobe‘éQU"oééoés Swgo T 2,35,664 ;5?33, 90y

p:
(15 2 7
(3) 10 (4) 12
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121.

122.

123.

124.

125.

126.

127.

4G-1922-ET/22192

What is the value of 1011012 + 1100112 ?

(1) 92 (2) 96
(3) 98 (4) 99

The sum of squares of five consecutive whole
numbers when divided by 4 leaves the
remainder :

(1) either 2 or 3
(3) either 1 or 3

(2) eitherOor1l
(4) either O or 3

If ‘n’ is the number of coprime numbers of
2027 and the sum of all the odd natural
numbers less than ‘n’ is x2, then x =

(1) 2025 (2) 1013
(3) 2026 (4) 1012
19x21+27-36+3x6+(4-2)=
(1) 426 (2) 356
(3) 330 (4) 365

The difference between the compound interest
and the simple interest on a sum of
T 3,12,500 which is kept at the annual rate of
interest r% for a period of 3 years is
< 6,160. Then r =
(1) 6

(3) 8

(2) 4
(4) 12

The distance between two stations A and B is
270 km. Two persons P and Q start at 9 AM
by driving cars from stations A and B
respectively to reach their destinations B and
A with their own speeds. If they both meet at
station C at 11-30 AM, which is at a distance
of 120 km from station A, then the speed with
which Q drove the car (in kmph) is :

(1) 40 (2) 80
(3) 60 (4) 90

A conical tent has been erected by spending
T 58,212 for the canvas required. The canvas
costs ¥ 630 per sq.m. If the radius of the cone
is 42 m, then the height of the cone (in
meters) is

(1) 42
(3) 56

(2) 49
(4) 63

128.

129.

130.

131.

(29)

GET IT ON
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Which of the following is not true ?

(1) If a line segment of length [ is made into
two parts of lengths m and n (m > n) such
l m 1++5

that—:ﬂ,then—= .
m n n 2

(2) In an arithmetic progression, if (2p)th term
is 2q, and (Zq)th term is 2p, then (q + p)th
term is q + p.

(3) If x is a prime number, then it is an odd
integer.

(4) In a progression if the sum of the first ‘n’
terms is a quadratic polynomial in ‘n’, then
it is an arithmetic progression.

A vegetable vendor sells vegetables at 7% less
than the cost price and gets a profit of 20% by
manipulating the weights he uses. How many

grams is he weighing less per kg ?
(1) 800 (2) 850
(3) 200 (4) 225

The speed of a car Y’ is r times the speed of
the car X’. If the car X’ covers a distance
‘D’ km in ‘H’ hours, then the time (in hours) in

which car Y’ covers the distance of ‘rD’ km is :

1) r (2) v/H
(3) H (4) Hfr
A sum of ¥ 2,00,000 is lent for interest at the

rate of 3% for the first year and 4% for the
second year on the amount accumulated at the
If the

accumulated at the end of the second year is

end of the first year. amount

further lent for one year at the rate of p% and

the amount received at the end of the third
year is ¥ 2,35,664, then p =

(15 2 7
(3) 10 (4) 12
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132, 200°¢0 I8 66@ EPR00O 5 Gy [Oapsts) SN
ST 48, 72 500030 108 DEDLOLH Srdhaeom.
& Do DIHFY 8:20:00 § &F FO SrOSHE,
80A WBo 9 DWoPo IE @D ef O
Soetozrom ?
(1) 9:37:22 Koo
(2) 8:27:12 Koeoew
(3) 10:45:55 Kotoen
(4) 8:15:25 Hotoew

133. o8 CokoSe Hogy XY &, oS Y eid
FS50EEr, @908 X Do rsodsr ¢od. XY
6] @ 140.
S08050 YX © 30850 132 805w X2 ook Y2
© DD 80 ©oNSHIE X + Y° Deod Jos ?
(1) 756 (2) 576
(3) 468 (4) 432
134. 2539, x+y+2z2=2],y=2x 000w z=1+y
9008 Xyz IS Dods ? 14,
(1) 315 (2) 288
(3) 243 (4) 343
135. 30065¢3 ‘0’ G5 B Hrg doPge Zogo HHdakw ‘0’
$% B0 I7Y Hopg InFo SWHBT Oy S0
- 142.
Ep @086 E199 — O100 =
(1) 200 (2) 150
(3) 100 (4) 250
136. 15009 999 3T Ko $iFve Vogry B3 8 o3
Ay g $:900 ?
(1) 280 (2) 290
(3) 300 (4) 310
137. ‘@, D, ‘@ © e 40 S00a» P, ¢, ‘D © Drnew
5 o 143.
42, ‘d’ = 44 ©00IY d“ —a“ =
(1) 1936 (2) 392
(3) 492 (4) 1444
4G-1922-ET/22192 (30)

138.

139.
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3(\/§+\/15)=
543 ++5
5 56
1) 2 9) 22
()3J§ (2) 3
3 36
3) 2 4) 22
()5J§ 4) =

1 500050 (70)* @ 7oz (70)* Gy, srase

260&)5 :
(1) 121 (2) 125
(3) 123 (4) 120

8 200.20. ey Ty EQS 8 1Dy gD féo
FED 21 20.0. FEo D00 1 20.20. $HBCKD
050 G30E);, P YD) 206328550 e.5),0¢38
8 Irsne wond & T wthd) (38 rrned’) :
(1) 35
(3) 36

(2) 3:696

(4) 369

a+b =ced dgor @, b S0asd ¢ eo $or
SJaRS) éogngem 300a» b > a > 1 e9ond5HeH ‘@’
DD Jos ?
(1) 2

(3) 5

(2) 3

4) 7

28 Y SSERo ‘R 3wy, Sosen T 508050 b
T % x% SHoD 2OA® b B X% oD F0E
§8 8 SS00 Ry O Errofomrd. @
R 0a Ry’ © 37°oro A%

(1) 10000 : 10000 — x>

(2) 10000 : 1000 — x2

(3) 1000 : 100 — x>

(4) 1000 : 1000 — x2

23 & w0l TeoNo3e HORPO JoHHw

(1) 491880 (2) 491460

(3) 492570 (4) 492620
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132. The traffic lights at three different road
crossings change after every 48 seconds,
72 seconds and 108 seconds respectively. If
they all at
8:20:00 hours, then at what time will they

change  simultaneously

again change simultaneously ?
(1) 9:37:22 hours

(2) 8:27:12 hours

(3) 10:45:55 hours

(4) 8:15:25 hours

133. In a two-digit number XY, the digit Y is in
one’s place and the digit X is in ten’s place.
The sum of XY and YX is 132 and sum of
X? and Y? is 80. What is the value of X3 + Y3 ?
(1) 756 (2) 576
(3) 468 (4) 432

134. Ifx+y+z=21,y=2xand z =1 + y, then

what is the value of xyz ?
(1) 315
(3) 243

(2) 288
(4) 343

135. Let O, and E  respectively denote the sums of
first ‘n’ odd positive integers and first ‘n’ even

positive integers, then E,;5— 0, =

(1) 200 (2) 150
(3) 100 (4) 250

136. How many times does the digit 8 occur in the
natural number series starting from 1 to 999 ?
(1) 280 (2) 290
(3) 300 (4) 310

137. The average of ‘a’, ‘b’, ‘¢’ is 40 and the average

of U, ¢, ‘A’ is 42. If ‘d’ = 44, then d%2 — a% =
(1) 1936 (2) 392
(3) 492 (4) 1444

4G-1922-ET/22192

138.

139.

140.

141.

142,

143.

(31)
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3(/3 +/15) _
53+6
5 56
1) —= (2) —J_
36 3
36
(3 —> @ 356
56 5
The number of divisors of (70)* excluding
1 and (70)*is :
(1 121 (2) 125
(3) 123 (4) 120
A hollow iron pipe is 21 cm long and its

external diameter is 8 cm. If the thickness of
the pipe is 1 cm and iron weighs 8 g/cmg, then

the weight of the pipe is (in kilograms) :

(1) 35 (2) 3-:696

(3) 36 (4) 369

If ‘@’, ‘b’ and ‘¢’ are three primes such that
a+b=c b>a>1 then, what is the value of
‘a’?

(1) 2 (2) 3

(3) 5 4) 7

A rectangle ‘R’ has dimensions 7’, ‘b’. A new
rectangle ‘R’ is formed by reducing 7’ by ‘x%’
and by increasing ‘b’ by ‘x%’. Then the ratio of
areas of ‘R’ and ‘R’ is:

(1) 10000 : 10000 — x2

(2) 10000 : 1000 — x2

(3) 1000 : 100 — x?

(4) 1000 : 1000 — x*

The sum of four-digit numbers that end in 23
is:
(1) 491880 (2) 491460
(3) 492570 (4) 492620
o
[=] %5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A
Addal2417)

144. x% + y2 + 22 = xy + yz + zx ochpiy x, y|147. & $0d Do HOIDoWH® ;

00050 z @ YD Hoggen @8 od. p=4— J1d,q=58v2 —4,r= V13 - 11,
50 (208 PISToR H0800508 : s=242 — 6 208t = V10 —24/2.
A x2y00cwy#z A p<r<t
B. x=y=z B. r<t<s
&2 1808 FedE DO LS JoE s : C. p<q<r<t
D. q<p<s
(1) A2o0cin B eo o 5850 308 T3 535 JodEm JoHES :
(2) A @850 $00a%0 B &0 (1) A, C 508050 D e 5B $8550.

(2) B, C 5000k D @0 Sv(gad D850,

(3) A X850 odan B edgso
(3) A, B 50005 D o0 S50 QEg00.

(4) A Zo0cti B eo godir @0 (4) A, B 350000 C o0 S D55,
n+l
145. PQR 3 ooafw (@2hmod LR = 90° 148. 2537 Sy, = Sp1’ 0o n > 1% 8, =10

PR = 15 20.2. R {00 PQ 2o&% AcHzds WONBY Sy 848, S, Sy =

poarso H $0at» HQ = 16 20.20. @ 1) 10 ) 7
APQR G303, 377050 (. 20.20.08°) Jos ? 2
3) 16 @ 2
(1) 140 (2) 150 2
149. x3 + y2 + 23 — 3xyz DSrHom S80S ¢
(3) 160 (4) 170 A 8 JI3P00D X + ¥ + z &8 SPEEros0.
146. 355 SHes P 0am Q @ 1 : 2 3%9265 B. & 38550005 x —y + z o8 S°8esro%0.

B39 DN ool :

(1) A B0 500050 B e9dso.

(2) A 93850 HBox» B He550.

(3) A 500c50 B oo Sotr edeso.
(4) A 08c5» B e Qodr dso.

Depachen D el g 3°§©°O°§)&
@S0, P Hossyoroso 55 Trsod
GOGMTT Q 93D vePAEI 6 J0o  STNS
EDVOTOOW T

&2 300 EITTOD 30890504 : 150. (y+2) S x%=z2+x) S y%=x+y) S z%,

A, ogos” P Gn), o Q Gk, TerE Sifo xyz # 0 ©Coty X, ¥, 2z €0 I Drey Do
&5 208 PSSTroR 50390508 ¢

B. $038y0°08 oo T 6,00,000 eond, P A xeyez

B, T T 2,00,000. B. x®+y2+ 22 =xy +yz+2x

e 800 38" 3OS D)E) JowEod : C. x=2y=3z
D x+y+z=10

(1) Ao B oo Jokir &0 % 300 T3 $O@H DR JoHEod :

(2) A 308050 B 00 306 9850 (1) ASrE 0850.

(2) A 50050 B oo 5573 $550.
(3) B 00050 C 20 557 $5550.
(4) A 5850 S0k B ones0 (4) C 50050 D & SrE30 950.

(3) A 93850 080 B H%50
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144. Let x, y and z be real numbers such that|147. Consider the numbers :

x2+y2+z2=xy+yz+zx. p=4—\/ﬁ,q=3\/§—4,r=\/1_—\/ﬁ,
Consider the statements : s=2+2 -6 andt= V10 -2+2.
A xzyandy=#z A p<r<t

B. r<t<s

B. x=y=1z
C. p<q<r<t
Choose the correct option from the following : D
. q<p<s
(1) Both A and B are true Choose the correct option from the following :

(1) Only A, C and D are true.
(2) Only B, C and D are true.
(3) Ais true and B is false (3) Only A, B and D are true.
(4) Only A, B and C are true.

(2) Ais false and B is true

(4) Both A and B are false

148. If S_ = D+l S 1 with S, = 10, then
n-1
145. PQR is a right-angled triangle with £ R = 90°, _
S2 SB S4 S5 SG -
PR = 15 cm. Foot of the perpendicular drawn 7
. (1) 10 2 —
from R onto PQ is H and HQ = 16 cm. Then 2
what is the area (in cm?) of APQR ? (3) 16 (4) 21
2
(1) 140 (2) 150
149. Consider the expression x + y2 + z% — 3xyz :
(3) 160 (4) 170 A. x +y + zis a factor of the expression.
B. x -y + zis a factor of the expression.
146. Two persons P and Q enter into a partnership Choose the correct option from the following :

(1) Ais true and B is false.
(2) A is false and B is true.

business with investments in the ratio

1: 2. P continues till the end of the year while (3) Both A and B are false
Q withdraws his investment after 6 months. (4) Both A and B are true.
Consider the statements : 150. Let x, y, z be some natural numbers such that

x% of (y + z) = y% of (z + x) = 2% of (x + y),

A. P’s share of profit is half the share of Q. where xyz # 0.

B. If the year end profit is ¥ 6,00,000, then Consider the statements :
the share of P is ¥ 2,00,000. A x=y=z
. . B. x2+y2+zz=xy+yz+zx
Choose the correct option from the following :
C. x=2y=3z
(1) Both A and B are false D. x+y+z=10
Choose the correct option from the following :
(2) Both A and B are true (1) Only A is true.

(2) Only A and B are true.
(3) Only B and C are true.
(4) Aistrue and B is false (4) Only C and D are true.

(3) Ais false and B is true

4G-1922-ET/22192 (33) of


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

SPACE FOR ROUGH WORK

4G-1922-ET/22192 (34) of


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

SPACE FOR ROUGH WORK

4G-1922-ET/22192 (35) of


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

GET IT ON
Google Play

1"

10.

16.
17.

DS BEES S AdAd DS B Howb & gr/grs e Fowots
DR0)E OMR RIXEED DED PE 1-8° ABERAD VOGLY HTros®
Dord. S BES  Dowdd SOy Nodo  To RN
DoDENNHS’ D VITEED DBo SrTrfosDo SO, BBA%
D 92500 ndotd TED AVLETTD BB, BotseERD.

GO :- 33565 B85 Hoexcd 1309102001 9008 & §od edorr Joed :
Hall Ticket Number

1[3]Jo[9[aJoJ2JoJo[1

PDDOeDDDD@

2000000000

2000000006

[oloNoNoNoNoRONONONO)

PO®O®OOOOBOEH6

®OO®EOOOOO6EO

GNoNoNoNoNONONGNGNG)

OO0

ONONON WONONONoNONO!

©0 000006 8o
DVAFETO Do S° EFaVoDED {é)e)oe?s QRG0S Dodso
Bo8ord.00850 XG> OMR DIFTPS DZos” EeFanodd Lwoss”

By D0BE0 BHOITD.

O Do &S° EePaodD :gooes‘ JrGH Ao D BODLOT. DL
ABS'S Q) DPo, VAT DTT EHy T wEE shHTrw
€9R00B0DLICED).

o) DErods® DIArTTORD DD AHorr HBAL30eCOR0.

B ePr PT?) DBAD Dot R0AD & BerDd HED HBIL WAD &
GG 365 © Bugy WP ByEe§v0 Goll, @ohD S¢S & &)
290DV HB(EILILICIBI0R.

. 088 (68 SdNBOMH, HrGarSES Sady, erh ey Haby, DS

DO T D BBEG JUTTIE SRDOD  &DAAoSE0 V0.

. MRS BSy S S0Q000ES B Hi86 DdTeD VOGDDD

$)DEBoBOIY STd eaa:ée SH3DGED HT) 1o TOE) ETHNS
208 T8 Bowd @0 FQIS BS S° F Eeranodads Qoo TR
DosEo Bdadr(d.

. D8 Q)‘go'i)s HOH D w8 @zﬁég e DL O DED b’&‘o&rbé

€900 D0TILICEED.

. DBE D00 DOL (OME LI0HILH b'ﬁo 800060 OB @0 OMR

RAPED DT AVRTOE £ SN0 WN0D) DT TS

V3P HrS FED S008 B5GjD BROE LD,

084 @dod6o T DTV WHBHERD B Dot SRVED DFIN.

208 epe,“)zgg 80& DLIUEY bwbdém 03D OMR RDAPEPS HDFo

Sorergosdo ORI :

(i) OMR 2a5°5rd Do P 35S 3665 S0eatddd S EEroodd

200 o€ O RBE YO0eS® ToRDKD.

(i) DB8LH Ddrgo Dotoo G Do, &I = S VoL

Dy ew, DFe, FEIW T I GG VAFTTR) T OMR

280 DYo 2 TRHQAS.

DT DoDErDS ge/ers e Fonot D) VR TE D

RBEG PRV VRV EDATACDI®,

(a) 6 &8 doww) eoh Babo AV oD Too

2,8 DOVS'D 288 ET) ) D HTOR DoDIXF, To°

€923(0 9L 3PaVOND 5355 BB Hoed o8 QBG S

eseéi? 20836030 5 83oh BRI,

838D 0§ SE Hordd) exdoh Babiro BEDV oD
T 28 DOVS™ 288 €T IO)D HTPOD VoDBI®

(3~ 932558 S5 3EP0VOND ECEN\D e§ S5 Hoedoed

o8 ABE 35S B35 906X SR 2of BRI,

(V) R3rEed Do P [TV SYYT/ TG b I8 ¥V o

X 508 RO ByTres’ AV’

AT DPo & By VT° (D) 6% EDAFADIS.

RIFEED DPo P HZrodd TE DD P & dgwo, §& &

fiosotro Hoth SEIOL FroyGOLoS.

D DB JS FFO DEAVIO VHVODODHIV.

(iii)
(iv)

(b)

(vi)
(vii)

(viii)

. D D SPER0DYIDNT (B0 AN, VAT DT QTS0

Bobecedons Soo 6 z5[08c0 6Go BoDLATT, & DAcos
D & IDERD SB0 PAGBEIVVL VBBV

L D08 DERJD 900 waézgg)v OMR RAFEFD DTPO A0 AR5 soHe,

208 J).Doh 900D ST EDNRD DES 065 &5° e90cEreeS” SorseIcdR.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Mark your Hall Ticket No. as given in the Hall Ticket with
Blue/Black Ball point pen by darkening appropriate circles on side 1
of the OMR Answer Sheet. Incorrect/not encoding of Hall Ticket
No., will lead to invalidation of your Answer Sheet and also will lead
to rejection of your candidature without any further notice.

Example : If the Hall Ticket No. is 1309102001, fill as shown below :
Hall Ticket Number

1[3]Jo[9[aJoJ2JoJo[1
[ MONONON NONONONON |
[NONONONONON NMONONO)
® 0000000606006
® 00606000606
® 66 66 666 6
® ®6® ® ©® 0 6 6 6 6
0000000000
®®6e6 666060606606
[ONONON O NONONONONO]
© 0000 0e0eeon

Get the signature of the Invigilator affixed in the space provided in
the Answer Sheet. Candidate should sign in the space provided in the
OMR Answer Sheet.

Rough work should be done only in the space provided for that

purpose in the Question Paper Booklet. No other loose sheet of paper

will be allowed into the Examination hall.

Do not mark answer choices on the Question Booklet. Violation of

this will be viewed seriously.

In case of any discrepancy between English & Telugu and English &

Urdu versions of the questions (in Bilingual Paper), English Version

of the question shall be treated as final.

Use of Calculators, Mathematical Tables, Log Books, Pagers, Cell

Phones or any other electronic gadgets is strictly prohibited.

The candidate should write the Question Booklet number and Sign in

the space provided in the Nominal Rolls while ensuring the Bio-data

printed against his/her name is correct.

No candidate should leave the examination hall until completion of

examination time.

Before leaving the examination hall, the candidate should hand over

the OMR Answer Sheet to the Invigilator, failing which action will

be taken for malpractice.

Candidates are permitted to take away the Question Paper with them

after completion of the exam.

The OMR Answer Sheet will be invalidated, if the candidate :

(i) writes the Hall Ticket No. in any other place of OMR Answer
Sheet, except in the space provided for the purpose.

(if) writes irrelevant matter, including the religious symbols, words,

prayers or any communication whatsoever, in any place of the

OMR Answer Sheet.

uses other than Blue/Black ball point pen to darken the circles.

(a) forgets to bubble or bubbles multiple circles in a column or
bubbles other’s Hall Ticket Number/other than that allotted
to him/her in the Hall Ticket circles.

(b) forgets to bubble or bubbles multiple circles in a column or
bubbles other’s Question Booklet Number/other than that
allotted to him/her in the Question Booklet circles.

(v) resorts to wrong/erroneous/incomplete bubbling of circles or
using v or X in the circles.

(vi) uses whitener on the answer sheet.

(vii) attempts any type of tampering (rubbing the circles with chalk

powder/scratching the circles with razors, etc.) on the OMR

Answer Sheet.

(viii) adopts any method of malpractice.

No correspondence will be entertained in this matter by the

Commission, if the Answer Sheet is invalidated or his/her

candidature is rejected due to the above reasons.

Digital copies of the OMR Answer Sheets of all the candidates

appearing for the examination will be made available on the

Commission's website after completion of Image Scanning.

(iii)
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Addal2417
TELANGANA STATE PUBLIC SERVICE COMMISSION: HYDERABAD.
GROUP-IV SERVICES EXAMINATION - NOTIFICATION NO. 19/2022
PAPER-2 - SECRETARIAL ABILITIES - MASTER KEY (22192)

Q.No. | Answer | Q.No. | Answer | Q.No. | Answer | Q.No. | Answer | Q.No. | Answer
1 3 31 4 61 2 91 3 121 2
2 4 32 2 62 4 92 2 122 1
3 4 33 4 63 3 93 1 123 2
4 2 34 3 64 2 94 2 124 2
5 1 35 1 65 3 95 3 125 3
6 3 36 2 66 1 96 2 126 3
7 2 37 3 67 2 97 3 127 3
8 3 38 2 68 1 98 2 128 3
9 2 39 3 69 3 99 4 129 4
10 2 40 3 70 4 100 2 130 3
11 2 41 3 71 1 101 4 131 3
12 1 42 3 72 2 102 1 132 2
13 1 43 3 73 2 103 3 133 2
14 4 44 4 74 1 104 2 134 2
15 2 45 1 75 1 105 3 135 3
16 3 46 3 76 1 106 2 136 3
17 3 47 2 77 2 107 1 137 3
18 1 48 1 78 1 108 3 138 4
19 1 49 3 79 2 109 4 139 3
20 2 50 1 80 3 110 1 140 2
21 2 51 3 81 4 111 3 141 1
22 4 52 1 82 2 112 1 142 1
23 4 53 4 83 2 113 2 143 3
24 3 54 2 84 3 114 4 144 2
25 1 55 4 85 2 115 2 145 2
26 2 56 2 86 2 116 2 146 1
27 1 57 3 87 1 117 4 147 3
28 2 58 2 88 1 118 1 148 4
29 4 59 3 89 3 119 3 149 1
30 3 60 1 90 3 120 4 150 2
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